

$$\frac{y}{\sin \alpha} + \frac{y}{\cos \alpha} = 0 \rightarrow \frac{y}{\sin \alpha} = -\frac{y}{\cos \alpha} \rightarrow y \cos \alpha = -y \sin \alpha \rightarrow \frac{\sin \alpha}{\cos \alpha} = \frac{-y}{y} = -\tan \alpha$$

$$\rightarrow \cot \alpha = \frac{1}{\tan \alpha} = -\frac{y}{y} \quad \tan \alpha + \cot \alpha = \frac{-y}{y} - \frac{y}{y} = \frac{-y-y}{y} = \frac{-2y}{y}$$

(1) ✓

$$\begin{aligned} \sin \alpha_0 + \sin \beta_0 &= \sin(\alpha_0 + \beta_0) + \sin(\alpha_0 - \beta_0) = \sin \alpha_0 \cos \beta_0 + \sin \beta_0 \cos \alpha_0 + \sin \alpha_0 \cos \beta_0 - \sin \beta_0 \cos \alpha_0 = 2 \sin \alpha_0 \cos \beta_0 \\ \sqrt{y \cos^2 \alpha_0} &= \sqrt{y} \cos \alpha_0 \Rightarrow \frac{\sqrt{1 + \sin \alpha_0}}{\sin \alpha_0 + \sin \beta_0} = \frac{y \sin \alpha_0 \cos \beta_0}{\sqrt{y} \cos \beta_0} = \sqrt{y} \sin \alpha_0 \\ &= \sqrt{y} \times \frac{1}{y} = \frac{\sqrt{y}}{y} \end{aligned}$$

نسبت منتهی

$$\frac{\sqrt{y} \cos \beta_0}{y \sin \alpha_0 \cos \beta_0} = \sqrt{y}$$

(1.5)

$$\begin{aligned} \frac{1 + \cos \alpha}{y} &= \cos \alpha \text{ و } \frac{1 - \cos \alpha}{y} = \sin \alpha \rightarrow 1 - y \sin^2 \alpha = \cos^2 \alpha \rightarrow y \cos^2 \alpha - 1 = \cos^2 \alpha \\ \rightarrow \cos^2 \alpha_0 \times \cos^2 \beta_0 \times \cos^2 \gamma_0 &= \cos^2 \alpha_0 \times \cos^2 \beta_0 \times \cos^2 \gamma_0 \times \frac{\sin \beta_0}{\sin \beta_0} = \frac{\sin \beta_0}{y \sin \beta_0} \cos^2 \alpha_0 \times \cos^2 \gamma_0 = \\ \frac{\sin \beta_0}{y \sin \beta_0} \times \cos^2 \gamma_0 &= \frac{\sin \beta_0}{y \sin \beta_0} = \frac{\cos^2 \alpha_0}{y \sin \beta_0} = \frac{1}{y} \cot^2 \alpha_0 \end{aligned}$$

(1) ✓

$$\begin{aligned} \sin \alpha + y \cos \alpha &= y \rightarrow \sin \alpha = y - y \cos \alpha \rightarrow \sin^2 \alpha = y^2 + y^2 \cos^2 \alpha - 2y^2 \cos \alpha \\ \rightarrow 1 - \cos^2 \alpha &= y^2 + y^2 \cos^2 \alpha - 2y^2 \cos \alpha \rightarrow 1 - \cos^2 \alpha - y^2 \cos^2 \alpha = -2y^2 \cos \alpha \\ \rightarrow 1 - \left(\frac{1 + \cos^2 \alpha}{y} \right) - y^2 \cos^2 \alpha &= -2y^2 \cos \alpha \rightarrow 1 + \cos^2 \alpha - y^2 \cos^2 \alpha = -2y^2 \cos \alpha \\ \rightarrow \cos^2 \alpha - y^2 \cos^2 \alpha &= -2y^2 \cos \alpha \end{aligned}$$

(1) ✓

$$\frac{1 + \cos A}{y} = \cos^2 \frac{A}{2} \rightarrow \sin B \sin C = \frac{1 + \cos A}{y} = \frac{1 + \cos(B+C)}{y}$$

$$y \sin B \sin C = 1 - \cos B \cos C + \sin B \sin C \rightarrow \sin B \sin C + \cos B \cos C = 1 \rightarrow$$

$$\cos(B-C) = 1 \rightarrow B-C=0 \rightarrow B=C=y \rightarrow \hat{A} = 180^\circ - \hat{B} - \hat{C} = 180^\circ - 18^\circ - 18^\circ$$

(1) ✓